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1 s GHNSROT T ax+b,y+c,=0 qAT
ax+by+te=0 v afe al/a2=-b1/b2=c1/czﬁ,
al =1 4 9 9 b g4
(a) SIfgT & BNIT (b) 3M® & BHIT
(c) I3 & T8I BT (d) & &l BNIT
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Th ¥R B U g W yfaess ol &, a9
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(a) I (b) 3G

(c) anf3a d) ST 9 PIg AL
gcl (Solution)

1 (b),2(c), 3 (b), 4 (a), 5 (c), 6 (b), 7(a), 8 (d), 9 (b),

10 (a)

2. Ifg X@I¥ 3x + 2ky=2 AN 2x + 5y +1 = 0 AHAX

Jfd oy ST 9o

2, dl kT 919 1 sI? 1.

(@ 11/4 (b) -11/4
() 154 (d) -15/4

3.k @ 59 A & AU @1 g™ 8x+5y=9 AAT  gq

kx + 10y =15 3RTd & ?
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() 15 @d 9

4. GNHT 2 +y =430 x+3y=15FT &
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() IP B (d) BIg BT BN

5. ﬂ"ﬂ?b_\"UTx+y=43ﬁT\' x-y=2$mﬁﬁﬁﬁ
@l & fay 1 4 9 98 duA g4
(a) GUrdl 8 (b) AHIGOR B

) ufreed @ d 3T 8 PIg T8 qp.

6. Ife x=2 3R y=3 GBI 2x + 3y =k BT TP B
Al kdT 9= e A | g9 -

(a) -25 (b) 13
(c) 15 (d) 20

7. GHIOROT T x +3y +9=0TAT 2x + 5y +7=0 gl
DT :

(a) SIfg<T & 8NIT (b) 3F® &l BIIT

P @ 0O WM 9 Ifvg e fag afreor
YT px+3y=7qAT 2x—y=6 &I & 3Ifgda
g T

feam gam aifiarvr el 2:

px+3y=7 = px+3y-7=0
2x—-y=6 = 2x-y—-6=0
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T8I,
a=p, b=3 ¢=-7 a=2 b=-1,a=-6
sfgha g &
al bl
3, 75,
P 3
= T F0
p # 6

2 kg 99 3R 1kg IR &1 o feHel a7 2160
T | U WM d1% 4 kg A9 30X 2 kg AR BT
o 300 &l oaT @ | 39 Reafa &t
fiorirfa wu § eaaa s |

HAET 1 kg 99 & I x BUAT TAT 1 kg AR
&1 g y AT 2 | a9 o wu frs
wfiaRvl §RT 2F @:

(c) @IS & T8I 8RT (d) &I & BT 2x +y =160
8. WHiHRUT Y y=7 3R y=-9 BT & 2 SR 4x+2y=300

@ TS b @ 2x+y=150

() 3d d) BIs B LS 13. ’\}WW{WI 2r+y—6 =0,4xr—2y—4=0
9.  FHIBRUT 6x -2y +9= 03X 3x-y+12=0 D GIRT WIAG & AT NI |

frefa et - ga faar war Ras wfaxor g @

(a) GuTchY (b) THIGOR 2 2x+y-6=0,4x -2y -4=0

() ufa=sdr & (d) <HEad 2
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IraET fafer grRr ga I
S5x-y-7=0,
fear g sx-y-7=0 (1)
x—y+1=0 (2
afiewer (1) & fag sx—y-7=0
= y=5x-7
wall @ R g

TR (2) B frg

x-y+1=0

x—-y+1=0
= y=x+1
X 0 1
y 1 2
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T bR @ foIg 3mafRaa &) 2 |
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I: x=2,y=33MIC BA B |

P& UH A1 A1d difog foraa fag fre=ifafRaa
aftexer e &1 ve sfgda gd &8l -

px + 2y =5, 3x+y=1

feam g wfiervr e 2
px+2y=5
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BIfoY |
x+3y=6, 2x-3y=12
fe=am gam aifidRoT g1 @ - x+3y =6,
2x -3y =12
gfievor x+ 3y 6D ﬁ"l'q
U x+3y=6
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X
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1 aEd = f& Y@ AB3R cpfag (6. 0)
R gfeBT ol & |
Ad: x=6,y=03MI<T & B |
xS
17. s wfiaor 3w =F - 3 =,
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3?[.3%—%1:—2, 3+t 5 =1—63 fear gan
Mg aifieHwor g™ 2
R 1)
T =B )
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1 J2(5y-6) 13
T{ 9 }+%=T &
4G5y - 6)+27y 13
54 76
207y‘294+27y Ly 2am
= 47y=24+117 = 47y=141 = 3/:14i71 =3
y® A & aHiexr (3) 9 yfaeenfia a1
W, 89 9T &xd B:
2(5% 3- 6)
R
q: Bl x=2TATy=32
AT x=2, y=3 ®I gferenfiid &1 w,
1 U 2 & g wfiavor (1) @ik (2) 9q=
gl o 2, oar fe e feamr & @:
WH&T-10 (0T

x .y 2 .3 _ 13
2 T2 T3t T 6

Jd: 9T B el © |

Tl 3l drell Udh W&AT & ABI BT AT 8 B |
Bl Bl Ueled UR YT I drell I&aT &) 18
[T A 36 AMS © | 98 & A DI |
HHET <1 bl dlell G&AT BT 3HBIS AP x dAT
QB BT b y 2|
q9 YNR, x+y=8
qAT G&AT = 10y +x
3D P Ueled W YT B dlell Gl = 10x+y
g AR

10x+y=(10y+x)+36= 10x—x+y— 10y =36

= 9x—9y =36

Sx-y=4 . () [9 ¥ HIT &4 W]
BT (1) AR THBHIT (2) B WS W
2x=12 = x=12—2 =6

wHfiexr (1) ¥ Ffiexor (2) B "M W,
4

=4 =y =>5 =2

ard: 3rfise AT 10y +x=10%x2+6=262 |

AMUT 6+2=38
= 62=26+36

Id: YT gl 9dl 2 |

mﬁ%+%=13’%_%=_2
feam gam aftaxor frem 2
%Jr%—n .............. (1)
%_%z_z .............. )
I,
%za .............. 3)
%:b .............. 4)

x 3NNy &1 A FHfiHor (3) AR (4) 9 .
BT (1) 3R (2) ¥ @A WX 89 UM 8
2a+3b=13
Sa—4b =-2
THHRer (5) # 4 4 X wHiHor (6) 3 @
O $RF TR 84 U &
8a+12b =52
15a—12b =6




BT (7) R iR (8) HI Sisd W
& Ui ®:

23a =46
a=% =2
- < - RO (3) 9]
x:%
a=2 & GBI (5) ¥ @A WX & U 8-
2(2)+3b=13
= 4 +3b=13

3b=9 ﬁb:% =3
= b=3

= %=3 HYsRoT (4) 9]
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(’ﬂﬁzaﬁﬂﬁfgﬂﬁix:%. y=
[ATYT — FHIHRT (1) AR FHdRor (2) 7 x
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T feamar a2
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W

24 5 4 jp_12=2
Y G 6

20. fod 91 @ ST IR W T A A IAD
A afy 1 s < @ a8 -+ a7 it @ wweg
yde § @ 5 "l T, @ 7w L @ e 2
qg =1 =rd iy |

gl Wﬁﬁ%%

dd 9ITIENR,
x+1 4
y+1 =5
5+ = 4@y+1)
Sx+5%x1 = 4y +4x1
Sx—4y = 4-5=-1
5x—4y = -1 (1)
3R -5 _ L
y-5 B 2
2(x-5) = 1(y-5)
2x-10 = y-5
2x -y = -5+10
WHET-10 ATFOTE)

x-y = +5 (2)
THHRT (2) |

y=2x-5
y &1 g8 a4 aHfiaver (1) 9 gforenfia &3
TR,

S5x—4(2x-5) = -1
= S5x—8x+20 = -1
= —3x = -1-20
= —-3x = 21
- M
BT (2) § x=7 @A W,
2D-y =5
= 14—y = 5
= —y = 5-14=-9
Sy = 9
3 aﬁiﬁfﬁr—rr%él
YA,
7+1 _ 8 4
9+1 10 5
7-5  _ 2 _ 1
9-5 T4 -2
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